About Kickback

‘Everybody’ these days plays Roman Keycard Blackwood (RKCB), and quite right too – it is far superior to the standard version and it is what we shall be using in this book. However, whenever you use Blackwood (whatever variety you choose) there is always a problem with the lower ranking suits as trumps because the reply may get you too high. In fact, you may even have a problem with RKCB when (’s are trumps: -
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Don’t worry about  the 2( transfer, we will cover that later. The point is that 4NT does not work as RKCB when (’s are trumps. East justifiably had visions of slam but now 5NT at (3) would be asking for kings and we are too high! The problems are even worse with a minor suit and you may also get problems when asking for the trump queen. The only real way to solve this is to ensure that you have 4 steps between your Blackwood asking bid and the trump suit.

There are a few solutions; 4-of-the-minor as Blackwood for minor suits is one of them. But probably the best is Kickback; this uses the suit above trumps as the key card ask and it is what we shall be using in many situations.

Also, of course, because we have opened 1NT, we often need 4NT as a quantitative bid.
About Roman Key Card Blackwood (RKCB)
We use RKCB in this book as the ace (or rather keycard) ask, but 4NT is not always the RKCB bid.

Because of the problems involved when a minor suit is trumps (and also when one of two suits may be trumps) we have various different methods for the key card ask. It is Kickback for (’s and (’s. But with a minor suit it may be 4 of the minor or Kickback, depending upon the sequence, and this is fully explained when it occurs.

Also I have assumed the 0314 variation of RKCB, it’s up to you if you prefer 1430.
Note also that in a sequence such as   1NT - 2( - 2( - 4(,   the 4( bid is often referred to as Gerber, or Roman Key Card Gerber. I think that this is misleading; when I refer to Gerber it is always an ace ask with no trump suit agreed. The 4( bid here is simply RKCB with 4( as the asking bid.

In many circumstances there are two suits that are very important and then we use Double (or two-suit) RKCB, or DRKCB. Sometimes asker may have a void, then it’s Exclusion RKCB or ERKCB. And if there are two key suits and asker has a void then it’s Exclusion Double RKCB or EDRKCB. These are all fully described later.

Matchpoint or teams scoring?

The type of scoring may affect the decision for your final contract. For example, a 75% 6NT may well actually score better than a 95% 6( at pairs (matchpoints). This is not ‘real’ bridge and I assume teams scoring (IMPs) or rubber bridge. 
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